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SEscikit-learn B A EE R TRIAGE

1. BIREKRKTF50(>50 samples)

Yes

2. FulZE3! (predicting a  category)

No

3. TIEE (predicting a  quantity)

Yes

4. #IEE/NF100K(< 100K samples)

XA RIS, BAAEHRE AT 100K, #uEEEEIE, RNEHETIn/\VF100K. HERZAY

s
5. B— LR EE (few features should be important)
[BREAHSR, AE. StEZNoll

6. M1 mEN(SVR(kernel="linear"))
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IN, OUT
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train_result = train.groupby(['stationID’,'wkday’,'days’,'hours’,'minutes'])['status'].sum().to_fra
e('inNums').reset_index()

train_result['outNums'] = train.groupby(['stationID’,'wkday’,'days’,'"hours’,'minutes'])['status'].c
unt().values

train_result['outNums'] = train_result['outNums'] - train_result['inNums']

import numpy as np
test data = train_result.loc[;['stationID’, 'wkday', 'hours', 'minutes']]
test data = test data.values

test target = train_result.loc[;,['inNums']]
test target = test target.values
test target = test target.reshape(test target.size)

from sklearn.model _selection import train_test split
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test data A, test data B, test target A, test target B = train_test split(test data, test target, t

st_size=0.1, random _state=0)

SVR

from sklearn import svm

clf = sym.SVR(kernel='"linear")
clf.fit(test data A, test target A)

pred = clf.predict(test_data_B)
pred = pred.astype(np.int64)

HMEER

SHYHEISIRE: 84.7, BER—iR, FFETUHANE, AR EHE—LuuH.

# Fmean_absolute_error, iHhEZE
from sklearn import metrics
import matplotlib.pyplot as plt
plt.figure(figsize=(24, 13))

plt.plot(range(0,len(pred)), pred - test_target B)

metrics.mean_absolute_error(test_target B, pred)
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